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Part A: Vocabulary

Directions: Choosc the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- I was confused when reading the student’s paper because it lacked ------"m--- . First she
told about a trip to a farm, and then she described her math test, and hcr topic was
supposed to be about a favorite building.

[) persistence 2) coherence 3) equivalence 4) inference

2- If you arc here in the autumn, you will also sec that the oak is losing its leaves. Most
oak trees are ----------- , meaning they lose their leaves in the fall.
1) deciduous 2) symbiotic 3) immutable 4) asymmetrical

3- When I went to visit, Marsha’s greeting was -------—--- . A few people had told me that
she was often cold and unfriendly, but I did not find her so.
1) cordial 2) inevitable 3} ravenous 4y gloomy

4- One area that greetings illuminate is ----------- . For example, which person says “hetlo™
first and how somconc is greeted can be part of the stratification system in a society.
1) awe 2} demise 3) deterrence 4) status

5- Welfare workers were sternly ----------- by the court for ignoring the woman's plca for
help.
1) transmuted 2) coerced 3) rebuked 4) enforced

6- Kate shouldn't have any problem finding a job with her ———-—-- of skills.
1) attachment 2) repertoire 3) initiation 4) expertise

7- To —-——--——- the boredom that had set into my life, I decided to live on a farm for a year.
1) fluctuate 2) elicit 3) distract 4) alleviate

8- We should ----------- our nation’s tecachers because they have much of the responsibility
for educating the future.
1) verbalize 2) vindicate 3) venerated 4y verify

9- Twins, being of -------—--- ages, are usually even hetter matched on environmental variables
during upbringing than are siblings.
1) identical 2) volatile 3) adjacent 4) consistent

10- The great strength of 123 For Windows is its -----—---- with all the earlier versions of the
produect,
1) disparity 2) neutrality 3) compatibility 4) clarity

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

In a fundamental discovery made in 1954, James Olds and Peter Milner found that stimulation of
certain regions of the brain of the rat acted as a reward in teaching the animals to run mazes and solve

problems. The conclusion from such experiments (11) -=--------- stimulation gives the animals pleasure.
The discovery has also been confirmed in humans. These regions are called pleasure or reward centers.
One important centre is in the septal region. (12) ----------- are reward centers in the hypothalamus and
in the temporal lobes of the cerebral hemispheres (13) ----------- . When the septal region is stimulated in
conscious patients (14) -~-----=--- neurosurgery, there are feelings of pleasure, optimism, euphoria, and
happiness.

Regions of the brain also clearly cause rats distress when electrically stimulated; these are called
aversive centers. (15) ----mmmamm- , the existence of an aversive centre is less certain than that of a reward
centre.

11- 1)is 2) are the 3) is that 4) whose

12- 1) where 2) where they 3) in which 4) and there

13- I)as well 2) either 3) also are 4} are too

14- 1) to be undergone 2) undergoing 3) undergo 4) have undergone
15- 1) Otherwise 2) However 3) Lven though 4) By the same token
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PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3),
or (4). Then mark it on your answer sheet,

Passage 1:

The primary reason for the growth in crustal deformation research with GPS, however, is the
fact that the technique puts an inexpensive, precise geodetic tool in the hands of scores of
university and other research groups. Unlike other space geodetic techniques, such as Very
Long Bascline Interferometry (VLBI) and Satellite Laser Ranging (SLR), that require large
facilities and budgets. GPS measurements can be collected by small teams with modest
budgets. For this reason, GPS has essentially replaced mobile VLBI and SLR for the study of
plate motions and plate boundary deformation. GPS has also largely replaced trilateration and,
to a lesser degree, spirit leveling in the study of crustal deformation associated with
earthquakes and volcanoes. For example, the highly successful Crustal Strain Project of the US
Geological Survey switched from a ground-based laser distance measuring device to GPS in
the late 1980s. Strainmeters still provide far greater strain sensitivity than does GPS, but they
cannot offer the spatial coverage and long-term stability of GPS. Interferometric Synthetic
Aperture Radar (SAR) measurements are tremendously exciting because of their unparalleled
spatial coverage. Interferometric SAR and GPS are complementary in that GPS provides long-
term stability, vector displacements, and better temporal coverage as compared to the extensive
spatial coverage provided by SAR. Because both GPS and SAR (as well as VLBI) involve the
propagation of electromagnetic signals, they share related path delays through the electrically
neutral lower atmosphere. Thus, results from onc system are directly relevant to the others, and
presently strong interest exists in using GPS estimates of atmospheric water vapor to correct
SAR images for the variable path delay induced by water vapor.

GPS has replaced the techniques of Very Long Baseline Interferometry (VLBI) and
Satellite Laser Ranging (SLR), because the latter:

1) are cheaper 2) are more expensive

3) require small facilities 4) require modest budgets

According to the text above, what is the optimum instrument to measure strain change in
a geodetic network?

1) Interferometric Synthetic Aperture Radar (SAR), because of its unparalleled cost

2) Stainmeters, because of their sensitivity and long-term stability

3) GPS because it offers stability and good temporal coverage

4) VLBI because it is cheaper than other geodetic techniques

According to the text above, which sentence is not correct?

1) GPS and InSAR are complementary to each other

2) GPS provides vector displacement and bettcr spatial coverage than InSAR

3) InSAR provides extensive spatial coverage for crustal deformation studies

4) GPS measurements can be used to correct atmospheric delay in InSAR measurements
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Passage 2:

The term “remote sensing” refers to the techniques of measurement and interpretation of
phenomena from a distance. Prior to the mid-1960’s the interpretation of film images was the
primary means [or remote sensing of the Earth’s geological features. With the development of
the optomechanical scanner, scientists began to construct digital multispectral images using
data beyond the sensitivity range of visible light photography. Thesc images are constructed by
mechanically aligning pictorial representations of such phenomena as the reflection of light
waves outside the visible spectrum, the refraction of radio waves. and the daily changes in
temperature in areas on the Earth’s surface. Digital multispectral imaging has now become the
basic tool in geological remote sensing from satcllites.

The advantage of digital over photographic imaging is evident: the resulting numerical data
are precisely known, and digital data are not subject to the vagaries ol difficult-to-control
chemical processing. With digital processing. it is possible to combine a large number of
spectral images. The acquisition of the first multispectral digital data set from the multispectral
scanner (MSS) aboard the satellite Landsat in 1972 consequently attracted the attention of the
entire geological communily. Landsat MSS data are now being applicd to a varicty of geologic
problems that are difficult to solve by conventional methods alone. These include specific
problems in mineral and energy resource exploration and the charting of glaciers and shallow
seas.

A more fundamental application of remote sensing is 1o augment conventional methods for
geologic mapping of large areas. Regional maps present compositional, structural, and
chronological information for reconstructing geologic evolution. Such reconstructions have
important practical applications because the conditions under which rock units and other
structural features are formed influence the occurrence of ore and petroleum deposits and atfect
the thickness and integrity ol the geologic media in which the deposits are found.
Geologic maps incorporate a large, varicd body of specific ficld and laboratory measurements,
but the maps must be interpretative because field measurements are always limited by rock
exposure, accessibility and labor resources. With remote-sensing techniques it is possible to
obtain much geologic information more cfficiently than it can be obtained on the ground.
These techniques also facilitate overall interpretation. Since detailed geologic mapping is
generally conducted in small areas, the continuity of regional features that have intermittent
and variable expressions is often not recognized, but in the comprehensive views of Landsat
images these continuities are apparent. However, some critical information cannot be obtaincd
through remole sensing, and several characteristics of the l.andsat MSS impose limitations on
the acquisition of diagnostic data. Some of these limitations can be overcome by designing
satellite systems specifically for geologic purposes; but, to be most effective, remotc-sensing
data muslt still be combined with data from field surveys and laboratory tests, the techniques of
the earlier twenticth century.

By using the word “inferpretative” the author is indicating which of the following?

1) Some maps are based more on data from aerial photography than on data from field
operations,

2) Some maps arc based almost exclusively on laboratory measurements.

3) Some maps are based on incomplete data from field observations.

4) Some maps show only large geologic features.
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With which of the following statements about geologic mapping would the author be most

likely to agree?

1) Geologic mapping has not changed significantly since the early 1960°s.

2) Geologic mapping will have limited practical applications until remote-sensing systems are
perfected.

3) A developmental milestone in geologic mapping was reached in 1972,

4) Without the present variety of remote-sensing techniques, geologic mapping could not be
done.

According to the passage, measurements of which of the following can be provided by the

optomechanical scanner but not by visible-light photography?

1) The amount of visible light reflected from occans

2) Daily temperature changes of areas on the Earth’s surface

3) The density of foliage in remote areas on the Earth’s surface

4) The degree of radioactivity cmitted by cxposed rocks on the Earth’s surface

It can be inferred from the passage that a major disadvantage of photographic imaging in

geologic mapping is that such photography

1) cannot reflect changes over extended periods of time

2} cannot focus on the details of a geologic area

3) is always enhanced by digital reconstruction

4) must be chemically processed

It can be inferred from the passage that Landsat images differ from conventional geologic

maps in that Landsat images

1) predict the movements of glaciers

2) revcal the cxact size of petroleum deposits and ore deposits

3) provide highly accurate data about the occurrence of mineral deposits

4) indicate the continuity of features that might not otherwise be interpreted as continuous

The passage provides information about each of the following topics EXCEPT:

1) some of the practical uses of regional geologic maps

2) the specific limitations of the Landsat multi-spectral scanner

3) the principal method of geologic remote sensing prior to the mid-1960’s

4) some of the phenomena measured by digital multi-spectral images in remote sensing

The passage suggests which of the following about the “conventional methods” ?

1) They are not usetul in providing information necessary for reconstructing geologic
evolution.

2) They are used primarily to gather compositional information about geologic features.

3) They consist primarily of field surveys and laboratory measurements.

4) They have rarely becn used by geologists since 1972,

Which of the following errors cannot be eliminated by ensuring that backsights and
foresights are of equal distance?

1) Collimation error. 2) Reading error of a rod.

3) Error due to the Larth's curvature. 4) Error due to the refraction of the rays.
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Which of the following statements is incorrect regarding the resection method?

1) Tt does necessary to physically occupy the known points.

2) Accuracy depends upon the precision of instrument used.

3) Three directions are measured to determine an unknown point.

4) Minimum requirement of this method is three known points. Other redundant points whose
coordinate are already known can be used as a check.

Which of the following statements is incorrect regarding the collimation error in

levelling?

1) 3-wire level can be used to minimize the collimation error.

2) Kukkamaki or Peg test can be performed to determine the size of the error.

3) The effect can be minimized by setup the levelling instrument midway between the staffs.

4) This error is created because the optical line of sight is not perfectly perpendicular to the
dircction of gravity.

Which of the following statements correctly describes the primary purpose of

simultaneous reciprocal levelling?

1) This method is primarily uscd to minimize the Earth's curvature effect.

2) This method is used for eliminating the collimation error only.

3) This method is primarily used for determining the height of the water on river.

4) Tts primary purpose is to minimize the collimation error, bul both refraction effect and
curvature effect can also be minimized as it reads at the same time at both ends.

When using GPS, what type of height is the raw GPS height?

1) Normal height 2) Geoidal height 3) Ellipsoidal height  4) Orthometric height
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